
390 DUKE WHITE ABS CKD 2015 <2015><CN><F4387O1>
EXHAUST SYSTEM

14032

Pos Part Number Description Additional Text Quantity

1 90205183100 SILENCER CPL. 1.00

2 90205007000 MUFFLER CPL. 1.00

3 90105090033 HEAT SHIELD CPL. 1.00

4 90105004000 exhaust flange gasket 1.00

5 90141090000 oxygen sensor 1.00

6 90205050000 MUFFLER CLAMP 1.00

7 90205005005 GASKET MUFFLER 1.00

8 90105084000 muffler mounting tube 1.00

9 90105068100 damper, bottom ONLY FOR NEW
SILENCER VERSION

2.00

10 90136038000 FLANGED NUT M8 H7,5 WS12 1.00

11 J027081053 HH COLLAR SCREW M8X105 SW12 1.00

12 90205085000 DAMPER HEAT SHIELD 1.00

13 90105085000 RUBBER CAP 1.00

14 J025060146 HH COLLAR SCREW M6X14 SW10 2.00

15 J025060356 HH-COLLAR SCREW M6X35 WS8 2.00

16 90205086001 muffler mounting spacer bushin 4.00

17 90205068000 damper, bottom 2.00

18 90105000001 CLIPNUT M6 2.00


